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Unite 4, sayfa 112 ikinci paragraf asagidaki sekilde diizeltilmistir.

Let’s suppose, ABC Makine A.S. purchased a machine which is going to generate cash flows of £1.000 for the first two years and
£5.000 for the next three years. If the current interest rate in the market is 6%, what is the present value of the cash generated

by the machine?

Unite 4, sayfa 112 “Figure 4.13” agsagidaki sekilde diizeltilmistir.
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Unite 4, sayfa 112 besinci paragraf asadidaki sekilde diizeltilmistir.

Finally, adding up all present values gives us a value of £13.728,25. This is the price at which this machine could be purchased
if you want to earn of %6. Purchasing the machine at a price below this price would raise the return above 6%.

Unite 4, sayfa 112 “Figure 4.14” asagidaki sekilde diizeltilmistir.
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